‘7
50-1/2" MAX. & 3
O.A. FRAME WIDTH Ea'-.. :1\’5) 1
515 N. FRALEY STREET g,?gf E5
KANE, PA 16735 ] SOSE ¢
PH. (B14) B37-6464 R _,.wsgggg
2N E & B5ks
20 \\\\\ DR,
6 ) 582
CHARD @ O N =3
VAN G 1 11 #1348
AN UARD BE, 28,0
8§69 2560
ALUMINUM HURRICANE BARRIER :L"LTQ Bodl
ODUTSWING LRI
] I 3 9.
IMPACT - 5
== 0
= i v
D g 9°
o= 5 O
(== 1 ~ < 0 — B &l
R 2 =~ -0
=A Hogl 382
— < Ol =
GENERAL NOTES % Szl <O
S e EED
. - . . - . zZ T W
1. This product has been evaluated and is in compliance with the éth Edition (2017) Florida §§§ 3 E’Q
Building Code (FBC) structural requirements including the "High Velocity Hurricane Zone" & % x g@)
(HVHZ). 2 SI0| =8
g < % a
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to I e
. . i [d P
base material shall be beyond wall dressing or stucco. I = )
O
3. When used in the HVHZ, this product complies with Section 1626 of the FBC and does not [] 8 P
require an impact resistant covering. { =9 E
—|o|x
QN
4. Site conditions that deviate from the details of this drawing require further engineering = sls %
analysis by a licensed engineer or registered architect. & ﬁ > @
<l<|E] |2
5|3 @
5. Allsteel shall be protected as specified in Section 2222.6 of the FBC. ole ‘é‘ =
KEla
JEE
TABLE OF CONTENTS N [u[S
SHEET # | DESCRIPTION o[
1 Typical elevation, design pressures & general notes OVERALL SCREEN DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) NN
2 Barrier panel sections, components & screen details MOUNTING STYLE FRAME OPENING (without Porosity Factor) (with Porosity Factor*) & §<5
3 Reveal mount sections - masonry wall DIMENSION DIMENSION [N N
4 Surface mount sections - masonry wall POSITIVE NEGATIVE POSITIVE NEGATIVE o] =[2
5 Reveal mount sections - 2x wood framing - - z
6 Surface mounf secfions - 2x wood framing REVEAL MOUNT 50.50 41.78 70.0 70.0 110.0 110.0 DATE: 8,/26/13
7 Surface mount anchoring - masonry walll X X ScALe:  N.T.S.
8 Reveal mount anchoring - masonry wall SURFACE MOUNT 110.375” 49.18" 70.0 70.0 110.0 110.0 DWe. BY:  JK
9 Surface mount anchoring - 2x wood framing CHK. BY: LFS
10 Reveal mount orécaongg “ZXC;N?O.? framing *NOTE: The Design Pressure shown has been increased for the porosity of the barrier (62%). SRE
11 C;lclarr;ponen]‘slcn I ckr v[/c:re = (,:.'S The consideration of the use of the porosity factor is at the discretion of the FL—10238.1
12 Bill of matterials & lock release options Design Professional or the Authority Having Jurisdiction. -
SHEET _1 oF 12

R:\Clients\Kane PERMANENT\A - Florida Product Approvals\FL-10238\C - Drawings\FL 10238 (2017)\FL-10238.1-.2.dwg, FL-10238.1

© 2013 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Kane PERMANENT\A - Florida Product Approvals\FL-10238\C - Drawings\FL 10238 (2017)\FL-10238.1-.2.dwg, 2.1

i H T
" \\\\\\ * Y; I,///,
@ 4" FROM CORNER 51) Sk o N,
" 10-1/4" MAX. O.C. NS “ %z w0
~—2.041" — / ——2.374— 3 Ssg, s |pi0z
7 =X 3 21 -j<":p M
" 7L P 6 L 288 I¥|ESiZE ey
=z & O = = 1 T 2ol 2 |PESN 4o
. ) BN NEET L
7, b e N = 0 -
%, «\\ Hoow
LOCK ’ HINGE %, Pﬁox\‘ 2om°
1" FROM CORNER @ / W 2 0
LOCK TO MAIN FRAME 2-7/8" Max. 0.c. \*!) / 2"\ HORIZONTAL CROSS SECTION HINGE TO MAIN FRAME : R
ATTACHMENT ATTACHMENT &, S ¢
\2/ 33 28%0
%9 . 2.125" —= 2:8 5702w
——| 1.459" |=— N &9 Baak
S Y =
\\\ 4 ‘ E o 1n ‘g’ §z
= A 5 5 ) ‘ < 8 2o @%
e ~o N N > N 0
O— 74 S A g gy 2
, i = ~ 0.06” e Ik
_ 4B.00" MAX. OA. __ | 1 1 D £__7 o g g
MAIN FRAME WIDTH " _M Bz
AN 0.959 f ‘ ) S 2=yl 2
41-7/16" MAX. W . 3.125 n © T
'+ SCREEN OPENING —] CORNER ASS'Y DETAIL o @ HORIZONTAL BRACE @ MAIN FRAME O 3384 2
. WIDTH (TYP.) “2~‘<2z1§ ®o
© > =39 G2
Fe Zloe %Z
At 0 D m
U] o ] v g
H = <<
1 o o] ©
s 1.494" |=—
= 5- = Z 0. D ﬂ: 9]
SE . 8E ~ =S o
0 O S (8) ko
Sgs e
| HL SIR[™
ST LT e S L o
<+ © : 35 - A% =
? oF @ MAIN FRAME HORIZONTAL BRACE NEREE
l X~ SECONDARY CORNER KEY CORNER KEY \ z|s|E %
= =3 MAIN FRAME clolg =]
& @ COVER ; 3.0 ;>~ @\ RRIR
gk %y (6) cl<la
~ 8Z X y £2|8
\@ = 0908090206 . N R
355655858 % el
02000000 W ) ! SN o
968050808 . 1" FROM CORNER [y ' NN
< 03030808 3" MAX. 0.C. SLal2y >N
I o — o o = 5
. 00—+ " w o]~
0906 “T " .@ DATE: 8/26/13
& 50 4” FROM CORNER souE: N.T.S.
_1 10-1/4" MAX. O.C. owe. B JK
<7)_SCREEN DETAIL VAN FRAME chk. Bv:  LFS
14 GA. (0.0785") TYPE 304 - A DRAWING NO-
STAINLESS STEEL CORNER KEY m VERTICAL CROSS SECTION FL—10238.1
(OPEN AREA = 51%) 2/
SHEET _2 oF 12

© 2013 R.W. BUILDING CONSULTANTS INC.



CON| SINVYLAINSNGD SNIQHNE "My ELOZ @

€186 ON VO 3dad SNOISIAIY
S6SES T4 ‘OOLIDA ‘OSZ X08 "O'd \Sdg S| ONIvY 43 Aisos0d Gaaavier/or/z L[ vl |8 &)
,:.mi .m‘fzﬁS:mzoo oNIgIng - AIENESSY M0 Ldvd syl o84 (#102) "a3 4is oL 3ivadn| s1/10/Z] 2 ||t = N (2
o A<ZO\:$ HIIHHVE INVOIMUNH WANIANTY [ e 084 (£102) '03 HI9 ol Juvadn| /1/9z/6| £ ﬁ < g = 3_
RO P S92, 60YEY ON '3'd Il GaVN9 NYA o |&|5]e !
SS9 Now0T R, s g uopusy SN3FHOS INVM i m sleET B
> .... 40 3ivis ....W\\\ :Ag pesodedd sjuewinoog -10N00dd S K m %
Wm 10z oo
: o= 2/
¥ ¥ R S
E L eovEyoN ¢ T \
-~ S 38
R SN
\\ & -oo- zm°ooua> /,
) Q Yeppuat®y //
\\\\\\\ssxom o/////
Hipnwy
> N o o
) K 3 3 ® N
Z z (%) 4\ 2B
. s s | 5
| ® s 283
= - aan
. 5 q oM
S | .
; )
N S
/ > .- m
-
N & S Q
2 = 2 e
=Q G R ) o .
- 2 > = D P s
o = | = —~_<
NG SRS S —— / ~|™
vy Ll //
(WOIdAL)
. WONININ
("dAL) au and v/ Ll
AovdS NIHS =<
XYW ¥/ L mm »
on =55 '1SI0 3903
5 33 _- NN LGZLE
N
L e
Q9 T5E T
=2La v
i \\ . . S W
VA4 _DI.\. &)
7 ES
|
Q
2|d
e o =1
o
Q P
& o
z 2T
m > Qlx
x O L] W (@]
U I O
g, & &)
6o =
55 | ms
oK
x> |
a.m
Py fr—.
_
_
_
_
[ 1 — 1 1 _
@
© 3|z
S\
b ®_ 53
0z b4
LA A O _— R
& % TS
>, , [ g
o = |
E 5 =(8
z zZ|S
3|3
S|
0%
©), 2.,
WO
(%) 5|2
x|
\
L P
> . :
<L~ A B
by ‘A
= E —
oI s :
73] -
_ ‘1SIg 3903
‘NIN G2l

T°€ BMp'Z'-1'8620T-1\(£10¢) 8£20T T\sBumeiq - J\8EZ0T-14\s|eroiddy 1Rpoid epLold - VLLNINYWYId SUBX\SIUSID\:d



TON| SLNVYLINSNGOD ONIGTHNEg "M’ ELOZ @]

€186 'ON V'O Id84 , SNOISIASY
L616'6G9°CLE 'ON ®uoyd STIVM AUNOSYA @ JIVa TON -
S6CEE 74 ‘OOMIDA ‘OSZ XOF ‘O-d \ﬁ\w\&m‘ SNOLLO3S INNOW 30VAdNS s e isomoa asaa i ol /e b 12| vilx || & |
E.mi ~mkz,snﬁmzoo ONIaING | *K1GN3SSV 80 18vd [ S47| oa8d (v10z) ‘a3 we OL 31vadn| SL/10/Z] 2 IR 3y m 5
W WNO Y, S31989vE INVOIISNH WNNIANTY | dr | o\d (Z10z) a3 Hi9 0L dvadn| zi/ez/6] £ || % g =y
RS e e .w@\\\ 80vSY "ON "I'd I Q4¥VNO NVA ®© £lgle
S % ot NOWO%Y T %, PIWIUDS 4 UOpUA] SNI340S INYH pldlely s B
Ww.... S0 3ivis ..... " iAg pe.pdeld syuewnooq 110Na0¥d Wc w Zl3 m %
F¥i x
l" .. m
“ l'. R
- ., o 2 L
%, XA S >
17, NHOS * o T w
Hinm >
e -
5
S 0
= \ Mm
i Ly
A » |
< . -
/ x Z =
> S 1 2
o s 2 Q
s L =
o My O :
L < Q
| e® 3
o 2 |
M ~~
w3z > o 1 (<]~
Y28 a a8 2 .
= ) o X
> A oo M
i e i zZ
e =2 -
on )
“1SId 3943 W 1SId 3943
CNIN 677 NIN ,G°¢
(WOIdAL)
WNNININ
= 8NN3 /L
Z 0 /
e
. S W
n E e .
no
~ 8
Loromnd
Py

S

INTERIOR
\
\

2.5" MIN.
EDGE DIST.

EXTERIOR

/"5 ANCHOR THRU SUB—FRAME

/ 2"\ SURFACE MOUNT — STRIKE JAMB
\4_/ HINGE REMOVED FOR CLARITY

PROTECTED

SURFACE
INTERIOR
EXTERIOR

135440 |
[ °NIN £SV

| e

<
gl
&
L
> 23
B =
v Smnu
nmu Wi
Zla
o @
S N\ _ B3
=
a R
S WR
Q >
o =%
(4 Wmm
> ITix
0 olo
0 Z|S
K .
O Z 0
= ¥i | <+
9 sSa
oy

T'b ‘BMP'Z-1'8€Z0T-T4\(£T0Z) 8€20T 4\sBuImeIq - D\BEZOT-T4\s|eroiddy PNposd epuold - Y\LNINVYIWYTd Sue\Saio\y



R:\Clients\Kane PERMANENT\A - Florida Product Approvais\FL-10238\C - Drawings\FL 10238 (2017)\FL-10238.1-.2.dwg, 5.1

 —

1/4” MAX.
SHIM SPACE
(TYP.)

EXTERIOR

INTERIOR

EXTERIOR

/1" REVEAL MOUNT — HINGE JAMB

\_5_/ HINGE REMOVED FOR CLARITY

#

1/4” MAX.
- SHIM SPACE
(TYP.)

- N

/ 5"\ REVEAL MOUNT — STRIKE JAMB

\5_/ LOCK REMOVED FOR CLARITY

PROTECTED
SURFACE

INTERIOR

EXTERIOR

1/4” MAX.
SHIM SPACE
(TYP.)

INTERIOR

I
PROTECTED :

SURFACE‘\:

1

ﬁ
n

INTERIOR

2.

1/4" MAX.
SHIM SPACE

EXTERIOR

/ 3"\ REVEAL MOUNT — HEAD

&/

4.53" MIN.
OFFSET

2
vl
EXTERIOR

A\ )

?\\

/ 2"\ REVEAL MOUNT — STRIKE JAMB

\5_/ LOCK REMOVED FOR CLARITY

\\
\\

N

/ 4\ REVEAL MOUNT — BASE

\&/

(0)
11

P.O. Box 230, Valrico, FL 33585
813.659.9197

. A .,
7 L5
%@ MY I A
s,
BUILDING CONSULTANTS,
Phone No.:

Documents Preparéd By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

KANE SCREENS
VAN GUARD I
ALUMINUM HURRICANE BARRIER
REVEAL MOUNT SECTIONS

PRODUCT:

2X WOOD FRAMING

LFS | PART OR _ASSEMBLY;

JK
LFS
B

9/26/17 |UPDATE TO BTH ED. (2017) FBC
7/01/15 |UPDATE TO 5th ED. (2014) FBC
12/10/13 JADDED POROSITY D.P. RATING

3

1

N

NOJ DATE

REVISIONS

oATE: 8/26/13

SCALE:  N.T.S.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-10238.1

SHEET _ 5 oF 12

© 2013 R.W. BUILDING CONSULTANTS INC,



TON| SAINVYLINSNGO aNiagHng

‘MM ELOZ O

€186 ON V'O 3d8d SNOISIATY
L616°6G9°CLE "ON auoyd mzomwmﬁiﬂzmoo%@o«wm:m AH 31vd [ONIm - 2_
S69EC T4 '09LIoA ‘057 %08 ‘0'd \Su@u SJ1|ONUW g'd ALiSodod daaavier/oL/zi L || ui|X || & |
wiidihFNVEINSNOD ONidTing ATBN3SSY MO Ldvd | S47] a4 (¥10g) "03 WIS Ol 3ivadn| Gi/io/z] e |9l |7, 8| 8
W 1VNO 1, dI1HHYE INVOIGENH WNNIANTY | e 084 (£102) ‘a3 HI9 ol 3uvadn| £1/9z/6] € ﬂ < EAR
RO 1907, ‘oN 3 il 44¥N9 NvA o |E|gle !
S T s’ 80vE¥ "ON ‘I'd LA F A
S NOROZy™ . .2 IPIUYDS "4 uopui SNIFH0S INVA Slal e gy
S/ S goawvs O~ . : EIZ|€(£13 e
> 4 ..wm :Ag pejodeld sjuswinooq +10NAa0d S|8|8|&51& %
: o
o
o
Lad
T
>
» lad
\\\ \
1 w o
i S
[ad
Lad
T
pod
< i
= 7
4
&
4 W I
f W =
S
. - ! S
Z L. - T
o
Z % g 3 S
Q o —_———
g s 3 z
= [
Z Ly 2
/ Q @
/ s
® - 2 g N (19
e S
7} O
Wy
f oy =
M| © o =
-~ o
e~
L
S, =
D X S
@
S v
§ x
| NE S
N S| 0l
gl g/
[ Tioe
/ m %)
f S|Q e
2 s
i olw
> x>
iQ (@]
~is s
o | x|&
e o)
ITix Iix
QOO OO
6 ® Ik <2
|- |-
@W mw
2t
S S
& i
= &
Z [ o x|
9 o
o o
& L £
T v,
o8 | = 5
55 |
NJ © x> _
owm _
_
m 1] \? i 'y ] _ oy
138440
& <+ _ ‘NIN &G

/ 1\ SURFACE MOUNT — HINGE JAMB
\_6_/ HINGE REMOVED FOR CLARITY

1'9 ‘BMP'Z'-1'8€201-14\(£102) 8€ZO0T Td\sBuimelq - D\8£Z0T-14\s[eA0iddy 1DNPOId BPHOL - VALNINVIWYd Buex\sjuaid\:y



R:\Clients\Kane PERMANENT\A - Florida Product Approvals\FL-10238\C - Drawings\FL 10238 (2017)\FL-10238.1-.2.dwg, 7.1

TWO STRIKES

T BETWEEN TOP

CONCRETE ANCHOR NOTES:

=,

—*1 r—-—B.S"

el

S |

SHOWN FOR -/

REF. ONLY

TYP. JAMB
AND SILL

fr—c!

Rt
=
MASONRY
ANCHOR RS
THRU R e
TRIKE PLATE ST AR

—-—I I—-—S.S”

P =

S
SUB—FRAME ANCHORING

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted fo maintain the min. edge
distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ITw
TAPCON®

2-1/2"

(3-1/8" @ STRIKE)

URFACE MOU

% 35?;£r—

—ﬂ\+—1y

e
[s 0]
~
L)
(O] L SUS——
Z
x é
O
B A
0’....!
£o
SF=
O__J
5 © [
<C
=6
. =
< I
N

(}-,

ANCHOR @
THRU @
SUB—-FRAME

13.5” MAX.
0.C. TyP

206

;
7
4
W
. - N
A 0
L) ’.
gz
IZT PN
gOos;"°
.l\~ -
FOSE ¢
B gign
?«(\\ Hooo
N\ o B
\ 255 g
0
6m22
ONg.
¥ <
T 28%¢
Eo 500
£0 | _Cm
0% 5928
& Do
W
o
C
c% §
T .
cu
2o eg
o o
T =
s B
@ I
v=,| S
r-d 3
HaZ <=
X9l =y
OS> £
NHER 2=
s LS
LUZIL;J 5(,)
£ L
¥ &=
B e &
S S|6| &
I S| 2
e} 2‘(}: 2}
o
o P
x| 0>
il e et 25
@
Bl~lo
f\?l:
f\w&
~lo
Y .
R o )
A% =
a2l o
Bla O
baed I (77
If,a E
B50|8 1
ololS o
I-"QO_
HlEa
<|<|w
N
DD
)
l\t‘QF
Shlok
NQ{E
§m§
nwwg
DATE: 8/26/13
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—10238.1

SHEET _7 oF 12

© 2013 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Kane PERMANENT\A - Florida Product Approvals\FL-10238\C - Drawings\FL. 10238 (2017)\FL-10238.1-.2.dwg, 8.1

w0
00 N
™ i
~ 9
. )
(& .
Z
E= a
: 'iB
é‘ .
H < %
L H 2o
o i ) O
=0 ©
e |
o .
5 © L
<< LJ q
=0
. = .
< T
S | &6
TYP.
I
SuB—F|
HINGE JAMB
CONCRETE ANCHOR NOTES:

ANCHOR
LNOSE

SUB—FRAME

DETA!

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted fo maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

MASONRY

=

52 TYP. HEAD

i I—ea

TYP. THRU STRIKE -
PLATE ANCHORS

-

SHOWN FOR—& -
REF. ONLY

—

i

Fr RN

3.5”*] r ¢ »‘ rs.s"
—] }—6"

%su

REVEAL MOUN
SUB—FRAME ANCHORING

ELCO

ULTRACON®|  5/1¢°

1-1/4"

3-1/8"

6"
(3-1/8" @ STRIKE)

TYP. THRU SUB
FRAME ANCHORS
BETWEEN
STRIKE PLATES

0.C. TYP

BETWEEN
STRIKES
7.188”"

6.933" MAX.
¢ STRIKE

o6

|

6.933"

24" MAX. 0.C. TYP.
STRIKE CL TO CL

o

PN
SUB-F
STRIKE JAMB

3 ANCHOR
THRU
9] STRIKE PLATE

ANCHOR DETAIL

Al rreeey)

%y, ¥
\\\ e

TYP. THRU SUB
FRAME ANCHORS
BETWEEN
STRIKE PLATES

%
%,
b~
, 7
3T
kg
£
RS
5 ~
S
ON

B
a

)

STATE OF
ONAL
SRR

Sy
17

v
/
BUILDING CONSULTANTS,

Z
813.659.9197

P.O. Box 230, Valrico, FL 33595

Documents Prepared By:
Phone No.:
FBPE C.A. No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

KANE SCREENS
VAN GUARD Il
ALUMINUM HURRICANE BARRIER
REVEAL MOUNT ANCHORING
MASONRY WALL

PRODUCT:

JK
LFS | PART OR ASSEMBLY:

LFS
BY

REVISIONS

9/26/17 |UPDATE TO 6TH ED. (2017) FBC
7/01/15 |UPDATE TO 5th ED. (2014) FBC
12/10/13 IADDED POROSITY D.P. RATING

NOJ DATE

1

3

N

DATE: 8/26/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-10238.1

SHEET _8 oF 12

© 2013 R.W. BUILDING CONSULTANTS INC.



TONI SLNVYLTINSNOD aNIaTing

‘MY ELDZ G

€186 'ON V'O 3dad SNOISIATY
LE1E689T1E “ON Suoud ONISOHONY INNON Tovans |28 A JON 5 |
S6SEC T4 ‘OOMIPA ‘0T Xog "O'd \Sggv SA1 ONLVY_d'd_ALISONOd 03dav[£1L/0L/2L] | 17| U3| 2 SE
(il SLNVLINSNOO oNIaTIng "ATBW3SSV_¥0 1dVd [ 71| 08d (¥10z) a3 Wis Ol divadn| Si1/t0/Zz] 2 |<ol=| |~ N s
/z,,, J<ZO\$\ HIHHYE INVOIMENH ANNINNTY | Mdr 083 (£102) "3 H9 oL dlvadn| £179z/6] £ |N|= g~ 9_
l//OA&y...::.. @rﬂ\\\ 60+Sy ‘ON ‘I'd Il QyYN9 NYA © e |
SN0 R, apruyss 4 uopusT SNIZHOS ANV MEINMEEST:
~ .... 0 3ivis .... > :g peupdeid sjuewnooq +L3NA0¥d S m 5|5 m &
E 20 10z <sygs
i «/rm.mdm
E % eovEyoN I \
‘\ -cc -o. ,I
D (WO
O RS
\\\\\\ :Iom /////
Hipgaw
SAMIMLS OML
dOl N3ami3g
L8LL—=—=| dAL 00 |__ 4
1 XYW 2 £
DIALS D LS =
O
O
=z
<
N
L
QI w
ZX
<
7
i 1
! | _j 1 0
[ . [ 2 Z
2 24 | | % S
<% I WU w
a [ FW z
gz I »Z <
- 8 I 7 S ¢ w
i ogE Z :
wn
n 1| \ o ..__.
vy L \ ) 2
[ - ?
L i Z L
} - = = = = b
T 0 I
=
=
L
>
o~
JONIH Z N
. 10 OL 70 39NIH
‘dAL "0°0 XVA V< @
«88L°L m =
shuum o X dorl ﬂnru/ _
Lt
"dAL G'€ e_2
‘dAL ,G°€ OF 222
a T
39NIH 3 & ZFg
[7)]

1'6 ‘BMP'Z'-1'8E20T-H\(£102) 8£20T 1\sBuImelq - D\SEZOT-T-\steaoddy 19npoid epuold - W\LNINVINYId Bue\SIUalo\:y



SON| SANVYLINSNOD aNiagiing

MY 2102 O

€186 'ON 'V'D 3dad SNOISIAGY
£516°659c18 TON Suoud ONISOHONY INFO Az A8 LY {ON 5 S
GB6SEE T4 ‘OOWIDA ‘OEZ xo8 'O°d \N\Wg s ONILYY "d'0_ALISOMOd 03dav|£1/01/21] | || vi|X R g~
E.mi .mkz,&._:mzoo oNIaNg ‘ATENESSY MO LMvd [ s47] 084 (vi02) ‘a3 Wi Ol 3uvadn| s1/10//7 | 2 ol 1., N s
zzc. N Q\\ d3ldvE ANVOIRIINH WANIANTY | 084 (£102) 'd3 Hi9 ol 3vadn| £1/9z/6] € ﬂ < g ~|0
WAL : |5l 1|
A O 80¥Sy 'ON "I°d I ddVNO NYA o 1Elsle l_h
Ill o OO, ....&\\\\ IPHUYDS 4 UOpUAT SNIZHIS INWYA i m sluelE & m
UI%.... 40 3ivis .... "> :Ag peupdeiq sjuewnaog 110Nao¥d 28183 W %
u*m. ¥ .u z N\.&C\.\ 0
o “ : - B
Y e TS AL 28 8
-, S > =
\“\\ -oncc &zmoa -ﬂ-» /’I w m Nm
UGE S Eohu
%17, YHOS T S3X
Hignaw Pmmm
WFBS
T3]
T
BiRiLS @ .10 0L 70 3MMLS g2
881/ — \ * "dAL 00 "XWA ,¥Z 5F L
_ zZFx
< ¥
L X ) I ) 0 ) - § 3 ry } mamer § |
(7]
. "dAL 00 y
dAL 00 ‘XYN 8 -~
‘XVA .8 m
INLS D CH— | o
=
w c
Mg
22 L
59 3
EL=z0
g
4
$2EE
WFBS
M M
b 5 /\ |
- ') bt b -
T * ¥
* . o L ! * Ll 11 . )
il\@ g 7L i ¥
xx I o ..*rl ZT
o / @ °5 1 z° \ SE:
“T NI- 2z 1l 3 N~ o 2
¥ / - m.n.m || %R - \ ¥ M_W
/ QS [ \ e
/ &L \ Hd
w N X N =
I / A R I T R R SRR LU TN T B I \ !
i o |
] S 9 *
™~ [T "
>
«~N
e
@ | @),
"dAL "0"0 Ok: BF:
XYA £18°9 SEW
WSLET—| |— ZF
[ . m ) m (Y Y 3 m 3 3 'y m €3 ) =1 _ w
| -E
SZ
:mm—‘.ﬁ I W)
70 OL 710 J9NIH
" dAL "O°0 CXVWN . PT
39NH B

1°0T ‘BmMp'Z-1'8EZ01-1\(£10T) 8EZ0T Td\sBumelq - D\GEZ0T-T4\s|eaoiddy 1onpoid epuold - Y\ININVIWUId SuB\sualio\y




TON] SINVLTIASNGD aNIging

MY ELDZ O

€186 'ON V'O 3dad

®

®

G180 _ «SChL
| .SZ°9 |
« m .82l —]
Y, LSO & o) &
- -
* .
l~—.£95°0
LS80 | | v
. ” [——.sere |
™ 4 o ! _ | |
M wl. ’ \m/ \m/
3 - 3 LEL0 HJ_ o o
[ a5 ¢ @ T -
M.,m _ .£9G°0
iz —

®

EXTENDED J STRIKE

PLATE

©)

J STRIKE
PLATE

SNOISIAZY
L6L6'6G9°CLY "ON Suoyud m.?Em@zWﬂ«%o%o«% anv %] 31va_[ON|m ~ | o
S6SEE T4 ‘O0LIOA ‘057 08 ‘0'd \Su@u S1| NIV dq_JIisod0d Gaaav £1/01/Z1] L || vi|% |8 S
,:_mﬁ :m.srzﬁ,_:mzoo oNIalng KTEN3SSY M0 1dvd [Ss37] 084 (#102) 'G3 4is OL 31vadn| S1/10/Z| ¢ o M 1. N s
5 VNGO, J3198vE INVOIGINH WNNIANTY | Ar | o84 (£102) ‘a3 Hi9 oL 3vadn| ¢£1/9z/6] £ | g =17
///046.. ....... - @Q\\\ 60¥Cy 'ON "I°d I Q4vN9 NVA © BlElg !
SQFNOWOY XL, apiwyes 3 uopuky SNI3HOS 3NV AEIF = rall i
g ..... 40 3ivis .....W\.W :Ag pedpdelg sjuewnoog *1.0Naoyd 51813 W m &
mu. no o.- n N\.M‘AQ
Tt ¥ ym .\
T %Y eoveron § = imw
Lo . d oy
- SF §80°0 .
GRS s - °
“11 WHOS W &3 _ o)
Hipgpans s & el @
S S v PRI
s% 8§ %
2 £ =
P
o BN
O
L =
N Q — £
o
-6L°0H  H96°0-
....»I.
m,no. & ONO1T WId o
o Z T TV ¥3A0 P8 i 2
/v S -— £76'C S
\/J W - _‘I:.V.V@.O .aﬁ.vm.o !'_ - —.W._ M
» [
oossr—-N\ | EE i | | E
S zlw | ® | Ly
s " I8 | _ _ 2|2
“ =0 =<

111 ‘Bmp'Z-T°8£20T-14\(£102) 8£20T T\sBume.q -

I\8EZ01-T4\sjeAosddy 1NPOId BPUOL - Y\LNINVINHI Sue\siusiD\ ™y



\ /,
Sg o,
BILL OF MATERIALS (ANCHOR) 38 "z 8
ITEM| DESCRIPTION MATERIAL 5%6’ &6 4z 0
S1 | SCREEN DETAIL (STAINLESS STEEL) STEEL E%{@) g@ S= .
X | 2X FRAMING (SG >= 0.55) WOOD S ’i',zo.gg e
Y |HOLLOW BLOCK CMU (ASTM C90) CONCRETE % >, Q&s Zigh
Z | CONCRETE MASONRY (3000 PSI MIN. — ACI 301) CONCRETE ’o,, PRO\‘\\\ 3823
A [1/4° MAX. SHIM WOOD ‘g Zo5g
B | MAIN FRAME CORNER ANGLE WRAP STEEL &, oNg”
3 |MAIN FRAME 6063—T6 ALUMINUM \\1 33, 23%¢
4 |SUB FRAME 6063—T6 ALUMINUM 858 3 gu
5 | HORIZONTAL BRACE 6063—T6 ALUMINUM LOCK RELEASE OPTIONS € Boild
6 | MAINFRAME COVER 606316 ALUMINUM £ §
7 | MAIN FRAME CORNER KEY 6063—T6 ALUMINUM TYPICAL BOLT AT 5 POINTS Eg”
8 | MAIN FRAME SECONDARY CORNER KEY 6063—16 ALUMINUM SPACED AT 24” OC 8 5o Q§
390 ngl(zag% BBLRYACE CORNER KEY 6063—T6 AL;JTthtJM RELEASE =
&
31 | HINGE ASSEMBLY (TYPE 304 STAINLESS STEEL) ST. STEEL g &2
32 | J STRIKE PLATE (TYPE 304 STAINLESS STEEL) ST. STEEL = rﬁ 0=p| UE
33 | EXTENDED J STRIKE PLATE (TYPE 304 STAINLESS STEEL) ST. STEEL = Gaz| =°
40 | #8 X 1" SQ DRIVE PAN HEAD SMS ST. STEEL &] §§§5 E%’
41 |#8 X 1/2 SELF—TAP SQ HEAD SMS ST. STEEL : = oXla =u
42 |#14 X 2° PFH WOOD SCREW (1—1/2" MIN. EMBEDMENT) STEEL e L £3Ilp s&
4oA|#14 X 2—1/2” PFH WOOD SCREW (1—3/4" MIN. EMBEDMENT) STEEL LIFT QUICK RELEASE T
43 | #14 X 2° PAN HEAD SMS (1—1/2" MIN. EMBEDMENT) STEEL Locaten A R NE LOCATED AT THE LOCK S 5[ ®S
44 | 1/4" X_1-3/4 HWH ITW_TAPCON CONCRETE SCREW STEEL BETWEEN THE LOCK AND STATIDN sl 3k
45 | 1/4” X 1-3/4" PFH ITW TAPCON CONCRETE SCREW STEEL BOTTOM BOLT STATION & &
46 |1/4” X 2—1/4” HWH ITW TAPCON CONCRETE SCREW STEEL x|l
46A|1/4” X 2—1/4" PFH MW TAPCON CONCRETE SCREW STEEL ==
47 [#14 X 2—1/2" PFH WOOD SCREW (1-5/8" MIN. EMBEDMENT) STEEL o8
48 | #10 X 3/8" SELF—TAP HWH—SLOTTED SCREW STEEL Bl
50 | #10 X 1—1/4" SELF DRILLING TAPPING SCREW ST. STEEL NEE
51 |#10 X 3/8" THREAD CUTTING SCREW ST. STEEL SN
52 |5/16” X 1—3/4" HWH ELCO ULTRACON CONCRETE SCREW STEEL TYPICAL ONE sisls| |6
52A|5/16” X 1-3/4" PFH ELCO ULTRACON CONCRETE SCREW STEEL g,’:\ggg fSLzT 4,’;“02 POINTS ACTIVATE RELEASE <2l 2
53 |5/16” X 2—1/4" PFH ELCO ULTRACON CONCRETE SCREW STEEL ‘0"2§ o
WOOD SCREW INSTALLATION NOTES: / o \ :, : 8
1. Maintain a minimum 3/4" edge distance, 1" end distance, & 1" d \ g gc @
o.c. spacing of wood screws to prevent the splitling of wood. \l e )
RELEASE AR
e
SRR
DOWN QUICK RELEASE Sl
LOCATED AT THE BOTTOM =
BOLT STATION DATE: 8/26/13
s N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—10238.1
SHEET 12 oF 12

R:\Clients\Kane PERMANENT\A - Florida Product Approvals\FL-10238\C - Drawings\FL. 10238 (2017)\FL-10238.1-.2.dwg, 12.1

© 20713 R.W. BUILDING CONSULTANTS INC.



